5. Economical Impact of Infertility
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Decline in Domestic Growth

As birth rates fall, working-age populations eventually fall as
well. This leads to labor shortages in countries where the
working-age populations are in decline.
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Pressure on government spending

With an ageing population, the government will need to
spend more on pensions and health care. At the same
time, there will be fewer young people to pay income tax.

Lorem Ipsum Lorem Ipsum Lorem
[psum Lorem Ipsum Lorem Ipsum
Lorem Ipsum Lorem IpsumLorem
[psum

Less Innovation

Young people are more likely to be entrepreneurs, innovators
and take risks to develop new technologies and business.
With less young people, the potential ‘brain pool’ will be less —
giving relatively few ideas for improving living standards.



